
ES. 1 

(Alb) = 

XI=3 

I-L{m) 

m+1 

1-2m 

Lmm 3 

2 

t2 

+ 2 

t 2 -hin 2 

2 



(-h 

(41) 

A 



ES. 2 

(4) 

DiN QVE 

(2) SiANG 

VOLTE 

A SSa�SiVA 

(3) VucS 

R 

S 

3 

+(0, 9,)e R 

VAL 

3 

UN Sortos?, 



INOLTIC 

VALGA 

LoALE 

fUNTO C2) 

K2) 

iSIErEFAT1 BAS] A 

À,TES 
(x, k, k,) 

1) 



N.B 

ES.3 

(a) 

AVANI) 

24 50%116 

MA 

c 

NLIE 

ESSE RE 

OGNrNA 

CoME 

STA 2 AfiN 

UNO 

VALGONO 



Mos7AE 

MA 
SIA 20 

(EcUrpME) 

fiENOAMo uNQUE 

t*zx,, ,) 

Éo SSig, 

oi cME 

6SAE 

SSA 

ALTIE 

os E 

( 

LA 

ENUNCATE MEL NB 

LE 

M Dt 

VAKE 

VE T1. S 



A= 

(b) 

UN 

(5) Ssa2RRALE 

) 

/bas b2 bi 

So 110SR YEt. Di 

by 
b3 

Ko 

ES 

eS 



3) YAVe 

0SAN00 

2 

A 

2 

2 

2 

Je 



ES, 6 

(a) 

() 

LE 

An 



(b) 
CoSJo 

SoTIDs 

SUTIOSC 

ESt) 

N(astexax)+ 



6 

b 

JUMEt 

( 

the 



e. 

2 

SIGNif/LA 

b 

M-N 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

